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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

400 4 —@— | setVI_ETcl R

—0— setVIl_fgRec '

—@— setVI_VN m 00000000
300 - —@— slSetVl { v
200 ‘ R as A“‘ "-J“1A y

) Segel, m:uvmunwranm
100 . ‘A& A --A"\qu e/
& I | || i \
0 _$°0-8L0" -I e - Z 2




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-11_0
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P3-11

BriE) | BRI (FD) | ERE (EH/4) | BEBREE(B/R) |[XS EFRE

07:05 283 150.0 2.888 Ag| FHA@O7:05 KRENFEF (KAERER)
07:35 283 150.0 2. 888 RS ThHA@O7:35 KENIEF (KRAMEEER)
08:05 283 150.0 2. 888 RE| FiHAe08:05 KREIEF (KREERE)
08:45 283 150.0 2.888 RS FmHAQO8:45 KENFEF (RAfEEEE)
09:20 283 150.0 2.888 RS ThHA@09:20 kENFEF (RAfREER)
09:50 283 150.0 2. 888 RS FiHA@09:50 KREFEF (REERESE)
10:20 283 150.0 2.888 RS FhHA@10:20 KENFEF (CRAfEEIER)
10:50 283 150.0 2.888 BE| FiHHe10:50 REFEF (REAEHE)
11:20 283 150.0 2. 888 RS FaHAe11:20 kEIEF CRAFEER)
11:50 283 150.0 2. 888 RS FaHA@11:50 KENFEF (CRAfEEIER)
12:20 283 150.0 2.888 B ThHR@12:20 KENFEF (RA{ERENEE)
12:50 283 150.0 2. 888 RS ThHAe12:50 KENFEF (KAHEEE)
13:20 283 150.0 2. 888 B FiHFe13:20 REIEF (REAERSE)
13:50 283 150.0 2.888 Ag| FHA@13:50 KREFEF (KAHERKES)
14:20 283 150.0 2. 888 RS ThHAe14:20 KEIEF CRAFEERE)
14:50 283 150.0 2. 888 BE| FHAe14:50 REIEF (REAERESE)
15:20 283 150.0 2.888 A FHAe15:20 KREEF (KAERKSE)
15:50 283 150.0 2. 888 RS FhHA@15:50 KENIEF (KAFEESER)
16:20 283 150.0 2. 888 B FiHHe16:20 REEF (REAERSE)
16:50 283 150.0 2.888 RS FmHA@16:50 KENFEF (RAfEEER)
17:20 283 150.0 2.888 BE| FiHFe17:20 REEF (REAEHE)
23t]5943.0 (21)%) 3150.0 3233 %EC: 2080.0, PH: 5.9

FEIKRECE (1847.0 vs 3827.0) 15
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P3-11

FriE) [ EBIATK (FD) | ERE (EH/4) | BEBREE (/R |[XKS SRR

07:15 283 150.0 2.888 BS| 1Ri%e07:15 B3 (GGREMEESE)
07:45 283 150.0 2. 888 BE| 1Ri%e07:45 B3 (RF{EREE)
08:15 283 150.0 2.888 s {Ri&e08:15 Brl (REAEEE)
09:00 283 150.0 2.888 RS {RRi%@09:00 Bz (REAEHE)
09:40 283 150.0 2. 888 RS {Ri8009:40 Bz (REERSE)
10:20 283 150.0 2.888 el Ri810:20 Bal (REAERHSE)
10:50 283 150.0 2.888 BE| Ri8@10:50 Bzl (REAERE)
11:20 283 150.0 2. 888 e Rige11:20 Bz (REAERSE)
11:50 283 150.0 2.888 el Rige11:50 Ba) (REEESE)
12:20 283 150.0 2.888 Bl Rige12:20 Bz (REAEHSE)
12:50 283 150.0 2.888 B Rige12:50 Bz (REAERSE)
13:20 283 150.0 2. 888 Bl Rige13:20 Bal (REAEESE)
13:50 283 150.0 2.888 B 1Rige13:50 Bah (REAEESE)
14:20 283 150.0 2.888 B 1Ri%e14:20 Bz (GGREMEEEE)
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15:20 283 150.0 2.888 B Rige15:20 Bz (REAERSE)
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16:20 283 150.0 2. 888 S| 1Ri%e16:20 B (RF{EREE)
16:50 283 150.0 2.888 el Rige16:50 Bl (REAEHSE)
17:25 283 150.0 2.888 RS Rige17:25 Bz (REAEHE)
21t 5660.0 (20)%) 3000. 0 3ZHKEC: 2080.0, PH: 5.8

MEREHLER 2 5 FEIELRT (184.0 :
ZRIAEBRERE150. 0 ml.

HEEHECE (1887.0 vs 3987.0) 15
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FRV (ml plant-1)
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P3-11_0, Day=69 (2025-06-10)
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580 585 590 630 635 640 675 680 685 715 720 725
m=755,m FV0=0 m=785,m FV0=0 m=825,m FV0=0 m=855,m FV0=0
26.5
0 —o— MW —o— muw | 27 —o— | 2647 —o— MW
26.0 7 25.0 1 26. 2
5 -
25.5 ]
24.5 26.0 -
0 -
25.0 ]
24.5 - 24.0 25. 8 1
24.5 1 23.5 1
24.0 1 39 25.6 -
T T T 24 0 T T T 23 0 - T T T T T T T T
755 760 765 785 790 795 825 830 835 860 862 864 866 868
m=890,m FV0=0 m=925,m FV0=0 m=960,m FV0=0 m=1030m FVO0=0
5 - —— MW | 26.5- —— MW | 27.0- —e— MW | 26.54 —— MW
0- 26.0 - 26.5 - 26.0
25.5 -
9] 25. 5 - 26.0 -
25.0 -
U 25.0 - 25. 5 -
24.5 -
24.5 24.5 25.0
24.0 1
24.01 T T T 24.0 - T T T 24.5 - T T T T T T
890 895 900 925 930 935 960 965 970 1030 1035 1040
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P3-11

FriE) | EBIATK (FD) | ERE (EH/4) | BEBREE (B/R) [XS SRR

08:15 283 150.0 2.888 |Z=| {Ri%e08:15 Bzl (KREAEHE)
08:50 283 150.0 2.888 |Z=| {Ri%e08:50 Bz (KREERHE)
09:25 283 150.0 2.888 [Z=| 1Rige09:25 Bzh (REEEE)
10:00 283 150.0 2.888 |Z=| {Ri%e10:00 Bz (KREAEZEHE)
10:45 283 150.0 2.888 |Z=| {Ri%e10:45 Bz (KREAEHE)
11:20 283 150.0 2.888 |Z=| {BRi%e11:20 Bz (REEZEHE)
12:05 283 150.0 2.888 |Z=| {Ri%e12:05 Bz (KREEHE)
12:45 283 150.0 2.888 |Z=| {Rige12:45 Bz (REAEHE)
13:25 283 150.0 2.888 |[/\i| 1Ri%e13:25 Bzh (GREEESE)
13:55 283 150.0 2.888 |/hil| {Ri&e13:55 Bz (REAEHSE)
14:25 283 150.0 2.888 FE| 1BRi%e14:25 Bz (kBFERSE)
14:55 283 150.0 2.888 FH| 1Bi&e14:55 Bzh (RAEREE)
15:40 283 150.0 2.888 |Z=| 1BRige15:40 Bzh (KRAEESE)
16:40 283 150.0 2.888 |Z=| {Ri%e16:40 Bz (KREAEZEHE)
29t 3962.0 (14%) 2100. 0 3EHKEC: 2080.0, PH: 5.9

MERRNER S STREAERS (184.0 : 150.0), AJEEHF—RZ XA45)
2RI\ PRIERE150. 0 ml.
HERECE (1897.0 vs 4047.0) H 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1000 ~

P3-11_0, Day=68 (2025-06-09)

150 A
100 A

50

(¢
200 -
150 -
100 A

50 -

V1, V8RRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

997 2208

80 80
Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing

40040 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 -9000

1
Bylnit|@D70 01:53: ET=1677 Fg=2100.0 Ro=444.0

300 1 ByEt @D68 19:06: ET=1580 Fg=1800.0 Ro=nan

100 - = 0

: o
e == 0 e

40040 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 -9000

55| %= B | BB [ KB | kKB | KB | B | MW | W | W [m [ [BHA[F|®|MW|K|K|B|B|KB|®B|[F

300

200

100 A

1.0 A

5 |ZE(Z=| W | B | W [ B I ZE[(ZR|EE(ZR|ER(Z|)W| B |ER|ZE | 2R |2 (25|55 (%57 B 5
]
ByWon:@D70 01:53: ET=1519 Fg=2100. 0 Ro=605.0

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

s lBZB=|B= | B | B |0 | 1 52372718227 2210m| W 2215227182182 27182 % | &

0.6
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0.2~

0.0

500 A
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1800 800 2000
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i 3000
- 2000

- 1000

- 2000

- 1000

- 2000

- 1000

2700 - 3000 ~
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m=370, FV0=0 m=415, FV0=0 m=525, FV0=0

22.75 4

—8— ME ’1 o —— ME —e— ME 23.2 1 —e— ME
.25
] 22.50
23 23.0
21.00
22.25
22 20. 75 A 22.8 1
22.00
20. 50 22.6
21 ~ 21.75 1
20. 25 99 4
21.50
20 - 20. 00 A
T T T T T T T 21 N 25 - T T T 22 2 L T T T
400 600 800 1000 370 375 380 415 420 425 525 530 535
m=615,m FV0=0 m=670,m FV0=0 m=715,m FV0=0 m=765,m FV0=0
23. 25
. ME 23.2 - . ME 23. 4 o M E
23.00 23.0 - 23. 2 -
23.0
2275 - 22. 8 23.0 A
22.8
22.6 22.8
22.50 22.6
22.4 22.6
22.25 22.4
22.2 22. 4
22.00 - 22.2
22.0 M_E 22.2
T T T T T T T T T T T T
615 620 625 670 675 680 715 720 725 765 770 775
m=830,m FV0=0 m=865,m FV0=0 m=910,m FV0=0 m=965,m FV0=0
23.254+ —@— ME —o— ME 23. 50 1 —— ME —— ME
23. 4 1 23. 4 1
] 23. 25
23. 00 93 9
23.2
22.75 23.0 23. 00
23.0
22.50 22.8 22.75 -
22.8
22.25 22.6 29 50 A
] ] 22.6
22.00 22.4 22,25 -
830 835 840 865 870 875 910 915 920 965 970 975
m=1020m FV0=0 m m=370,m FV0=0 m=415,m FV0=0
23.6 - o— MNE 07l —e— mw —— MW —o— W
24.0 26.0 -
23. 4 26 -
23.5 25.5
25 -
23.2 4 23.0 -
04 25.0
] 22.5
23.0 23 - 24.5 -
22.0
22.8 4 22 1 24.0 4
1020 1025 1030 400 600 800 1000 370 375 380 415 420 425
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P3-11

BYiE) | GEREKE) | Els (EA/H) | EBREE B/ R | X8 ERR

07:10 283 150.0 2.888 RS {Ri&e07:10 Bzl (REAEHEE)
07:40 283 150.0 2. 888 BE| 1Ri%e07:40 B3 (RF{EREE)
08:10 283 150.0 2. 888 el {Ri&e08:10 Bxl (REEESE)
08:50 283 150.0 2. 888 B 1Ri%@08:50 Bz (REEEE)
09:25 283 150.0 2. 888 BE| 1Ri%e09:25 Bz (RS
09:55 283 150.0 2. 888 BE| {Ri&e09:55 Bl (REEESE)
10:25 283 150.0 2.888 sl Rige10:25 Bal (REAEHE)
10:55 283 150.0 2.888 BS| 1Ri%e10:55 Bz (GREMEESE)
11:25 283 150.0 2. 888 Bl Rige11:25 Bal (REEESE)
11:55 283 150.0 2.888 S| 1Rige11:55 Bah (REERESE)
12:25 283 150.0 2.888 S| Rige12:25 Bz (REAEHE)
12:55 283 150.0 2. 888 S| 1Ri%e12:55 Bz (GRF{EREE)
13:25 283 150.0 2.888 s Ri%e13:25 Bz (REERSE)
13:55 283 150.0 2.888 S| Rige13:55 BHa (REAEHE)
14:25 283 150.0 2. 888 BE| 1Ri%e14:25 Bz (RFAEREE)
14:55 283 150.0 2.888 sl {Rige14:55 Ba) (REAEESE)
15:25 283 150.0 2.888 BE| Rige15:25 Ba (REAEHE)
15:55 283 150.0 2. 888 BE| {Ri%e15:55 B3 (RF{EREE)
16:25 283 150.0 2. 888 el Ri%e16:25 B (REERSE)
16:55 283 150.0 2.888 B 1Rige16:55 Bah (REEESE)
17:25 283 150.0 2.888 BS| 1Ri%e17:25 Bz CGREMEESE)
2it]5943.0 (217%) 3150.0 329353 KEC: 2080.0, PH: 5.8

MEBEHERE STAREARS (184.0 : 150.0), AIREHTF—@E XAH4
ZRIAEBRERE150. 0 ml.
FHEKECE (1927.0 vs 3870.0) 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=67 (2025-06-08)

150 Fm————f— T ———— 5]
VI, VO &RV, ET — VI, VO, FVI, EVO, FRV, adjFRV, ET
- 3000
g ] 2500 2700 27987
857 L 2000
50
Warning: lcol [FVI',| "FVO’'] missing
0 + -0
200 ( 430.0
150 - 27.5
100 _ B 25 0
50 - -22.5
1.0 20.0
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.8 t
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
400 Bylnit :@D7O 01:53: ET=2598 Fg=3150.0 Ro=594.0 £14000
1
300 A : - 3000
1 - T
200 - : / . L 2000
! wh 1T .

100 - | \ - 1000
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
ol B B (BB | B | B | BB RB]| B i 5 5 5 i 5 5 5 | BB | BB 5 5 i & [ 4000
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T T T T
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P3-11

BYiE) | GEREKE) | Els (EA/H) | EBREE B/ R | X8 ERR

07:05 283 150.0 2.888 RS {Ri&e07:05 B (REAEHE)
07:35 283 150. 0 2.888 BE| 1Ri%e07:35 B3 (RF{EREE)
08:05 283 150. 0 2.888 s {Ri%e08:05 B (REAEEE)
08:50 283 150.0 2. 888 B 1Ri%@08:50 Bz (REEEE)
09:30 283 150. 0 2.888 BE| 1BRi%e09:30 B3 (RFERESE)
10:00 283 150. 0 2.888 el {Ri%@10:00 Bal (REEESE)
10:30 283 150.0 2.888 B 1Ri%e10:30 B3h (REEESE)
11:00 283 150.0 2.888 B 1Ri%e11:00 Bz (GREMEEEE)
11:30 283 150. 0 2.888 Bl Rige11:30 Bal (REEESE)
12:00 283 150.0 2.888 | 1Rige12:00 Bzh (GREEREE)
12:30 283 150.0 2.888 RS Rige12:30 Bz (REAERE)
13:00 283 150. 0 2.888 BE| Ri%e13:00 B (RF{EREE)
13:30 283 150. 0 2.888 el Rige13:30 Bal (REAERESE)
14:00 283 150.0 2.888 BE| Rige14:00 Bz (REAEHE)
14:30 283 150. 0 2.888 BE| 1Ri%e14:30 B (RFAEREE)
15:00 283 150.0 2.888 S| 1Rige15:00 Bah (GREERESE)
15:30 283 150.0 2.888 el Rige15:30 Ba (REAERE)
16:00 283 150. 0 2.888 BE| 1Ri%e16:00 Bz (RF{EREE)
16:30 283 150. 0 2.888 el Rige16:30 Bal (REAEESE)
17:00 283 150.0 2.888 el Rige17:00 Bz (REAEHSE)
17:30 283 150.0 2.888 BS| 1Ri%e17:30 B3 (GGREMREEE)
2it]5943.0 (217%) 3150.0 329353 %EC: 2080.0, PH: 5.9

MEBEHERE STAREARS (184.0 : 150.0), AIREHTF—@E XAH4
ZRIAEBRERE150. 0 ml.
FH[ERECE (1877.0 vs 3663.0) 145



P3-11_0, Day=66 (2025-06—07)

150 Fo———=—F——————F——————F-—————F——————F——————F——————F——————F——————F——————F——————F—————]
VI, V&¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3128
9500 5:9 - 3000
100 - 0§
00 12200 039
- 2000
50
80 Warning: lcol [FVI',| "FVO’'] missing
0 -0
200( 430.0
T
£ 150 - 279
e
= 100 1 L 25.0
E 50 4 - 22.5
1.0 20.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.9 t
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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